BT ERE G TP AARERR A A E R AR E

[ % =]
M1 ROBWNCEZ R E W, [FF 15 5]
(1) R 2% -322 + 2+ 1 =0 ZRBEHEZHWTHRZ 2 X0, 8 =]

(2) 0 BE3IRBDOAT, cosl = —% Dr =, sinf, tand, sin20 DEZ KDL IV, (7 A

R 29o0RZ ML T = (i), = (‘21> LT, RORINCEZ R E W, (71 15 ]

(1) Ax& | L, 1B, BEXUWR T -6 BRDEE, 7 )

(2) @ L b ORI O ERDEEN, 2EL, 0S0<7 LT3, 4 /)

(3) @ v U O3 AR ORERE S % RDE X, [4 5]
ex_i_efa?

I 3 BI% f(2) = (0<2 1) IZ2VWT, RDOFPNTEZZE W, [FF 15 5]

2
(1) BIEK f(o) OERETAN, BABE BMEZRDEX G, 0L X, BAM, BMEZIS

DED ZNZENKD L E W, [9 &)

(2) RS /O ) de DR RDE X0, 6 21
B4 D = {(z,y) | 22+ y* 9} 2T 5, ROMWITEZRI W, [FF 15 ]
(1) 73K D % z-y Vi FIZBR LR 0, [3 &)

(2) 2 EFfET / V9 — 22 — y2dedy D%, MEEIEEHL (v = rcosf , y = rsinf) ZHWTRKD
D
72V, [12 &



BT ERE G TP AARERR A A E R AR E

[ %)
5 ROMINCEZ IR E W, [7f 20 5]
(1) B % %y = 2ehT DR KD XN, 8 5]

r (-l<z<1)

(2) JEHA 2 DFEWIREEL f(2) = { DWW TRDIEPNTEZ R I W,

0 (z=-1)
(a) flx) D7 —V T ERDILZ N, 8 &i]
X 1yn+l
(0) fx) @7 — v =gmERmLT, # Y OV oegs s, 4 4]
n=1
6 RORINCEZ IR E W, [7F 20 55]
(1) B F(s) = % D5 TS R L) [5224-8;14 ERDBE, 1L, DB

5, FTHR:, B f(t) L2055 LM F(s) = L[f(1)] OZHFEEFRIF LTIV, [6 4]

f(t) " e sin wt cos wt
n! 1 w s
F(s
( ) anrl s—a 32—{—w2 32—{—w2

(2) R7 ML Z(:p,y, z) = sin <g (x + y)) i+axlogzj+ 2"k I2DWVWT, ROMWIZEZRE W,
2R, 0, ],k dEhEh o, yil, EAEOEARY b1 T3,

(2) div A ZRDHE, 13 4]

(b) grad (din) BRDB I, [4 5]

(c) EARV = {(z,9,2)[0<2<1,0<y<1,0<2<2) ORAELEKE S T2, ZOk

%~z A @sez?aofcmﬁﬁﬁ//ﬁ.ﬁds DEERDZE N, 771, 71 S

DI E DEMERN Y ML e T 5, 7 4]



